KSS KOOS symptoms KOOS pain

100 = 100 = 100 =
80 = 80 = II 80 =
60 = l 60 = 60 =
40 - 40 - I 40 - I.

20 - 20 - 20 -

0+ 0= 0=
T T T T T T T T T
before 4 months 12 months before 4 months 12 months before 4 months 12 months
KOOS daily living KOOS sports KOOS quality of life
100 = 100 = 100 =
80 = 80 = 80 =
60 = 60 = 60 =
40 - I 40 - 40 -
20 - 20 - 20 -
0+ 0= 0=
T T T T T T T T T
before 4 months 12 months before 4 months 12 months before 4 months 12 months
FJS-12 EQ-5D-3L EQ-VAS

100 = 1.0 = 100 =
80 = 0.8 = 80 =
60 = 0.6 = 60 =
40 - 0.4 = 40 -
20 - 0.2- 20 -
0+ 0.0 = 0-

T T T T T T T T T
before 4 months 12 months before 4 months 12 months before 4 months 12 months



